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* Reshape example
kAhkkhkkhkhk Ak hkkhkhAhkkhkkhkrhkkhkhrkkhk xkk*x*

log using "F:\workshop\long format\reshape_05_21_18.1log", replace

LR R S S b S b I S b S b I S b I S 2

* Accurate data
R R I I I b I b S e b b b b b e b b 2 3

LRI R I b b I S b I SE 2R b Sb S db S b S db S b 4

* Read in the Excel file
LR R R I I b b b I e I b b b b b S I 2 b b e

clear

import excel "F:\workshop\long format\reshape.xlsx", sheet ("Sheetl") firstrow

KA KAkKAKIAKAKAAKAARAKAAAAAXAA XA XA AR A Kk kA k)

* Change the data from wide to long
L R R I b b b b b b I 2 b b 2h b b 2R Sh b S 2h Sh I 2h Sh b 2 2h b 2 4

reshape long sex, 1i(fam_id) 7j(pernum)
list, sepby(fam_id)

AKAKAKAKAKAKAAKAAIAA A AR A AR A AKX A A A A AR A AR hA K,k Kk

* Change the data from long to wide
ER R I b b 2 2 b I 2 SR b b 2R S b S Sh b b 2h Sh b 2 Sh b b S Sh b 2 dh b 4

reshape wide sex, i(fam_id) 7j(pernum)
list, sepby(fam_id)
R R I I I I b b b I b e I b b b b b b b e I b b e

* first inaccurate data example
khkAkhkhkhk Ak hkkhk Ak hkkhhkrhkkhkrAhkkhkhrkhkkxkxk*x*

clear

import excel "F:\workshop\long format\reshape2.xlsx", sheet ("Sheetl") firstrow
reshape long sex, 1i(fam_id) 7Jj(pernum)

des

destring sex8, replace

des

reshape long sex, 1i(fam_id) 7Jj(pernum)

list, sepby(fam_id)

ER I R S b S b e S b S b I Sh b I S b I b b S 3

* Second Inaccurate data example
khkAkhkkhkhk Ak hkkhk A hkkhhkrhkhkrAhkkhkhhxkhkxkk*x*%

clear

import excel "F:\workshop\long format\reshape3.xlsx", sheet ("Sheetl") firstrow
reshape long sex, 1i(fam_id) 7j(pernum)
list, sepby(fam_id)

ER I R S b b e S b I S b S b I S b I S b S 4

* Third inaccurate data example
khkAkhkhkhk Ak hkkhk A hkkhhkrhkkhkrAhkkhhhxkhkxkxk*x*%

clear

import excel "F:\workshop\long format\reshape4.xlsx", sheet ("Sheetl") firstrow
reshape long sex, 1i(fam_id) 7Jj(pernum)
list, sepby(fam_id)



log close



